## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving FY2015 Budget Amendment #1 with the Arizona Department of Economic Security for the One Stop Division of the Education Department)

**RESOLUTION NO. 15-124** 

1	WHEREAS,	the Arizona Department of	Economic Secur	ity is intende	d to fund specific
2		Workforce Investment Act (V	VIA) employment	and training	programs operated
3		by the Tohono O'odham Nati	ion Education De	partment's On	e Stop Division for
4		the period beginning July 1, 2	2014 to June 30, 20	015 in the amo	ount of \$291,029.00;
5		and			
6	WHEREAS,	the Department of Economic	Security - State of	f Arizona final	allocation of funds
7		to the Nation, for FY2015 in t	the amount of \$29	01,029.00, the f	funds allocated are
8		subject to the provisions of th	e Workforce Inve	stment Act Titl	e 1B; and
9	WHEREAS,	the Budget Amendment #1 w	ill allow the creat	ion of addition	nal line items in PY
10		14 Dislocated Worker- 7075	Fuel, 7100 Utilitie	s, 7110 Comm	unication Expense,
11		and 7410 RM Vehicles; in FY	l 5 Adult Admin- 7	200 Freight/Po	ostage and 7410 RM
12		Vehicles; and FY 15 Adult – 70	75 Fuel; and		
13	WHEREAS,	the Education Department -	One Stop Divisio	n has seven (7	) program budgets
14		identified in the table below a	and request to exp	end these bud	gets:
15		Program	Operations	IDC	Total
16		PY 14 Dislocated Worker	\$10,360.44	\$700.56	\$11,061.00
17		FY 15 Dislocated Worker	\$60,937.12	\$6,023.88	\$66,961.00
18		PY 14 Admin	\$2,124.41	<b>\$433.59</b>	\$2,558.00
19		PY 14 Youth Program	\$99,819.52	\$8,193.48	\$108,013.00
20		FY 15 Adult Admin	\$1,720.79	\$351.21	\$2,072.00
21		PY 14 Adult Program	\$6,899.90	\$204.10	\$7,104.00
22		FY 15 Adult Program	\$85,309.05	\$7,950.95	\$93,260.00
23		Total PY14/FY15 Allocation	\$267,171,23	\$23,857.77	\$291,029.00
24		; and			
25	WHEREAS,	the Human Resources Devel	opment Committ	ee and the B	udget and Finance
26		Committee of the Legislative (	Council have revie	wed this Budg	et and recommend
27		its approval.			
28	NOW, THERE	EFORE, BE IT RESOLVED that the	e Tohono O'odhan	n Legislative C	ouncil does hereby
29		approves the FY 2015 Education	on Department - C	)ne Stop Divisi	on / Department of
30		Economic Security- State of A	_	aling \$291,029	0.00
31		Program	Operations	IDC	Total
32		PY 14 Dislocated Worker	<b>\$10,360.44</b>	\$700.56	\$11,061.00
33		FY 15 Dislocated Worker	\$60,937.12	\$6,023.88	\$66,961.00

## **RESOLUTION NO. 15-124**

(Approving FY2015 Budget Amendment #1 with the Arizona Department of Economic Security for the One Stop Division of the Education Department)

Page 2 of 3

PY 14 Admin	\$2,124.41	\$433.59	\$2,558.00
PY 14 Youth Program	\$99,819.52	\$8,193.48	\$108,013.00
FY 15 Adult Admin	\$1,720.79	\$351.21	\$2,072.00
PY 14 Adult Program	\$6,899.90	\$204.10	\$7,104.00
FY 15 Adult Program	\$85,309.05	\$7,950.95	\$93,260.00
Total PY14/FY15 Allocation	\$267,171.23	\$23,857.77	\$291,029.00

BE IT FURTHER RESOLVED that the Legislative Council hereby approves to utilize the Nation's resources pending reimbursement from the Grantor for the continuation of the Grant.

BE IT FINALLY RESOLVED that the Tohono O'odham Legislative Council hereby authorizes the Chairperson and any designated official to expend and administer the budgets, as attached, provided that any Amendments affecting the funds or funding level is submitted for further prior approval by the Tohono O'odham Legislative Council.

The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 04<sup>TH</sup> day of MAY, 2015 at a meeting at which a quorum was present with a vote of 2,926.9 FOR; -0-AGAINST; -0-NOT VOTING; and [02] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1(f) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat.984).

ATTEST:		11	1		
an	nuhl	ls			
	Wilson, I		ative S	ecretar	y
5	_ day of _	$\mathcal{D}$	lay		, 201

TOHONO O'ODHAM LEGISLATIVE COUNCIL	Page 3 of 3	the Education Department)
On the		TOHONO O'ODHAM LEGISLATIVE COUNCIL
On the		Smally mari
at /2:20 o'clock,m.  NED NORRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION  Returned to the Legislative Secretary on the day of		Timothy Joaquin, LegisVative Chairman
at /2:20 o'clock,m.  NED NORRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION  Returned to the Legislative Secretary on the day of		May
NED NORRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION  Returned to the Legislative Secretary on the	[Å] APPROVED	on the $\frac{\sqrt{2}}{20}$ day of $\frac{\sqrt{2}}{20}$ , 2015
TOHONO O'ODHAM NATION  Returned to the Legislative Secretary on the	[ ] DISAPPROVED	at / F. TO o'clock,m.
TOHONO O'ODHAM NATION  Returned to the Legislative Secretary on the		NED NORRIS IR CHAIRMAN
MANN , 2015, at 1:27 o'clock, p.m.		
MANN , 2015, at 1:27 o'clock, p.m.		
MANN , 2015, at 1:27 o'clock, p.m.		/
( Whaller	Returned to the Legislative	Secretary on theday of
( Whaller	1 Dolle , , , 2	2015, at <u>1:37</u> o'clock, <u>p</u> .m.
Evonne Wilson, Legislative Secretary	Mannille	<u>,                                     </u>
	Evonne Wilson, Legislative	Secretary

RESOLUTION NO. 15-124

ACTION: APPROVING FY2015 BUDGET AMENDMENT #1 WITH THE ARIZONA DEPARTMENT OF ECONOMIC

SECURITY FOR THE ONE STOP DIVISION OF THE EDUCATION DEPARTMENT

MOVED: COUNCILWOMAN SANDRA ORTEGA

SECOND: COUNCILMAN ARTHUR WILSON

DATE: MAY 04, 2015

DISTRICT	LEGISLATIVE REPRESENTATIVES	#OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK	1. LUCINDA ALLEN (Nicholas Jose)	112.1	х			
224.2	2. MARY LOPEZ ( )	112.1	x			
SELLS	1. ARTHUR WILSON (Ophelia Patten)	251.0	х			
502.0	2. BARBARA HAVIER (Beverly Rivas )	251.0	Х			
SCHUK TOAK	1. ANTHONY J. RIOS	87.1	Х			х
174.2	2. QUINTIN C. LOPEZ (John Fendenheim)	87.1	X			
SAN XAVIER	1. HILARION CAMPUS (Absent) (Daniel L.A. Preston, III) (Present)	112.1	Х	-		
224.2	2. RACHEAL VILSON-STONER (Absent) (Olivia Villegas-Liston) (Present)	112.1	X			
SAN LUCY	1. DIANA MANUEL (Gloria Ramirez)	109.8	Х			
219.6	2. JANA MONTANA	109.8	X			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	105.3	Х			
210.6	2. EDWARD MANUEL, SR.	105.3	x			
HICKIWAN	1. LOUIS R. LOPEZ	98.45	Х			
196.9	2. SANDRA ORTEGA (Manuel Osequeda, Jr.)	98.45	X			X
GU VO 241.0	1. GRACE MANUEL (Floyd Flores)	120.5				•
	2. PAMELA ANGHILL (Jeffery Antone, Sr.)	120.5	X		-	
GU ACHI 257.3 CHUKUT KUK 319.2	1. TIMOTHY L. JOAQUIN	128.65	X			
	2. LORETTA LEWIS (Louis Johnson)	128.65	<u> </u>			
	1. ETHEL GARCIA (Marlakay C. Henry)	159.6				
	2. BILLMAN LOPEZ ( )	159.6	X			
BABOQUIVARI 357.7	1. FRANCES MIGUEL (Absent) (Roberta Harvey) (Present)	178.85	X			
331,1	2. VERNON J. SMITH (Gloria Zazueta)	178.85	X			7000
	TOTAL	2,926.9	2,926.9	-0-	-0-	[02]